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Chapter 3 Solutions 

Section 3.1 

Question 1 1) a. 3 × 3, b. -3, c. 0 

  2) a. 
wiper air floor

Phx 10 10 8
Tuc 15 12 4

 
 
 

 , b. 
wiper air floor

Phx 23 8 4
Tuc 12 12 5

 
 
 

  

Question 2 1) 
4 14

10 4
 
 − 

  

Question 3 1) a. 
9 3
2 4

− 
 − 

 , b. 
29 10
7 15

− 
 − 

  

Question 4 1) a. 
5 1
0 2

− 
 
 

 , b. 
13 3.5
1.5 0.5

− 
 − 

  

Section 3.2 

Question 1 1) a. Not possible, b. 
3
6
 
 
 

  2) a. 
3 9

12 6
11 7

 
 
 
 − 

 , b. Not possible 

Question 2 1) 
Robes Hoods

Women

Men

1790 750
1930 800
 
 
 

  

Section 3.3 

Question 1 1) Yes, 2) Yes 

Question 2 1) 1 3 2
2 1

A− − 
=  − 

, 2) 1

1 1 0
3 1 1
1 0 1

A−

− 
 = − − 
 − 

 

Section 3.4 

Question 1 1)  2) 

Question 2 1)  2)  3) 

 


